
14

5

15

6

13

3

2

7

1

4

11

12

10

8

16

9

17

ITEM NO. PART NUMBER QTY MATERIAL
1 BASE PLATE 1 6061 ALUMINUM

2 LONG TRACTION BAR 2 66061 ALUMINUM

3 SHORT TRACTION BAR 1 6061 ALUMINUM

4 MOVEMENT BAR 1 6061 ALUMINUM

5 BIKE CHAIN LINK 9 NICKEL PLATED STAINLESS STEEL

6 NARROW LOW FRICTION STRIP 2 LOW FRICTION POLYMER

7 WIDE LOW FRICTION STRIP 2 LOW FRICTION POLYMER

8 COVER PLATE 1 6061 ALUMINUM

9 HEX CUP SET SCREW #6-32 x 5/8 3 BLACK OXIDE ALLOY STEEL

10 ACTUATION LEVER 1 STAINLESS STEEL 16 GA

11 1/16 DIA X 5/16 DOWEL PIN 1 316 STAINLESS STEEL

12 7/32 DIA x 3/16 DOWEL PIN 1 316 STAINLESS STEEL

13 1/4" TRACK SPIKE 11 STEEL

14 HEX CAP SCREW #2-56 X 5/16 7 BLACK OXIDE ALLOY STEEL

15 HEX CUP SET SCREW #6-32x3/8 3 BLACK OXIDE ALLOY STEEL

16 HEX CUP SET SCREW#6-32x1/2 5 BLACK OXIDE ALLOY STEEL

17 HEX CUP SET SCREW #6-32x7/8 1 BLACK OXIDE ALLOY STEEL

SEE BOM

RETRACTABLE 
TRACTION SYSTEM 

03
DO NOT SCALE DRAWING

001
SHEET 1 OF 8

4/16/19

4/17/19

4/17/19

4/18/19KD

MW

MW

KM

SCALE: 4:3 WEIGHT: 

REVDWG.  NO.

B
SIZE

TITLE:NAME DATE

COMMENTS:

MFG APPR.

ENG APPR.

CHECKED

DRAWN

N/A
FINISH

MATERIAL

A A

B B

4

4

3

3

2

2

1

1

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001

UNLESS OTHERWISE SPECIFIED:



 2.60 

 1.75 

 .850 
 1.063 

 1.250 

7X .0700 THRU
#6-32 THRU

 1.388 

 1.625 

 1.25 
 1.06 

 .85 

.0700  .15
#6-32 .15

 .34  .34 

 .46  .46 

 .75 

 .15 

 .13 
 .20 .13

THRU .33 

 .53 
 .22 

 .875 

 .875 

6X .1065 THRU
#6-32 THRU

 1.575 

 1.775 

SCALE: 1:2
ISOMETRIC VIEW

BASE PLATE

1001
SHEET 2 OF 8SCALE: 1:1 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:A A

B B

2

2

1

1

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001

MATERIAL:

6061 ALUMINUM



 .20 
 .45 

 .33 

 .20 

 1.00  1.00 

 .25 
 .55 

 .25 
 .55 

4X .1770 THRU
#12-24 THRU

 1
16 " 

 1
16 " 

 3
16 "  3

16 " 

2X .1065  .25
#6-32  .25

 .1065 THRU
#6-32 THRU

 45° 

 .20 

 .30 

 .15 

 40° 

 .20  .20 

1:1 SCALE
ISOMETRIC VIEW

6061 ALUMINUM

LONG TRACTION 
BAR

1001
SHEET 3 OF 8SCALE: 2:1 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:A A

B B

2

2

1

1

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001

MATERIAL:



 .45 
 .33 

 .20 

 .20 

 1.00  .65 

 .25  .25 
 .55 

3X  .1770 THRU
#12-24 THRU

 1
16 " 

 1
16 " 

 3
16 "  3

16 " 

 .20  .20  .20 

 .30 

 40° 

 .15 

.1065 THRU ALL
#6-32 THRU ALL

 45° 

2X  .1065  .25
#6-32  .25

SCALE 1:1
ISOMETRIC

SHORT 
TRACTION BAR

1001
SHEET 4 OF 8SCALE: 2:1 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:A A

B B

2

2

1

1

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001

MATERIAL:

6061 ALUMINUM



6X .1065 THRU
#6-32 THRU

 1.425  1.175 
 .875  .875 

 4X 60° 

 .20 
 .68 

 .185 

 .125 THRU 

 .17 
 .42 

 R.180 

 .10  .17 
 .25 

 .20 

 .33 

 .45 

 .10 

 .20 

 .33 

 .45 
 .38 

 .19 

ISOMETRIC VIEW
SCALE: 1:1

MOVEMENT BAR

1001
SHEET 5 OF 8SCALE: 1:1 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:A A

B B

2

2

1

1

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001

MATERIAL:

6061 ALUMINUM



8X .0960 
THRU

 1.60 

 1.45 

 3.35 

 2.50 

 .40  .40 

 .90 

 .90 
 1.56 

 1.75 

 2.60 

 1
16 " 

6061 ALUMINUM

COVER PLATE

1001
SHEET 6 OF 8SCALE: 1:1 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:A A

B B

2

2

1

1

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001

UNLESS OTHERWISE SPECIFIED:

MATERIAL:



 R.125 

 R.129 

 R.19 

 R.38 

 R.125 

 R.32 

1/16 DOWEL
SLIP FIT

 1.00 

 .54 
 .30 

 R.063+
-
.005
.000X2 

 .25 

 R.160 

 .146  .254 

 .960 

 R.70 

 .184 

 .239 

 .20 

 .050 

 1.13 

 .68 

ACTUATION 
LEVER

1001
SHEET 7 OF 8SCALE: 2:1 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:A A

B B

2

2

1

1

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001

MATERIAL:
6061 ALUMINUM



LOW FRICTION STRIPS
MATERIALS: NYLON, TEFALON, ULTRA HIGH DENSITY POLYMER
FORMS: STRIPS, COATINGS, OR SINGLE SIDE ADHESIVE TAPE

NARROW STRIP: CUT TWO STRIPS TO .125X2.125

WIDE STRIP: CUT TWO STRIPS TO .25X2.125

ITEM 
NO. QTY PART NAME MATERIAL SUPPLIER SUPPLIER PART 

NUMBER DISTRIBUTOR

5 9 BIKE CHAIN LINK NICKEL PLATED 
STAINLESS STEEL KMC KMC Z410 AMAZON.COM

9 3 HEX CUP SET SCREW 
#6-32 X 5/8

BLACK OXIDE ALLOY 
STEEL

MCMASTER-
CARR 91375A150 MCMASTER.COM

11 1 1/16 X 5/16 DOWEL 
PIN 316 STAINLESS STEEL MCMASTER-

CARR 97395A403 MCMASTER.COM

12 1 7/32 DIA X 3/16 
DOWEL PIN 316 STAINLESS STEEL MCMASTER-

CARR  97395A641 MCMASTER.COM

13 11 1/4" TRACK SPIKE STEEL ECOSPIKES X000ZQZTFL AMAZZON.COM

14 7 HEX CAP SCREW 
#2-56 X 5/16

BLACK OXIDE ALLOY 
STEEL

MCMASTER-
CARR 91864A005 MCMASTER.COM

15 3 HEX CUP SET SCREW 
#6-32 X 3/8

BLACK OXIDE ALLOY 
STEEL

MCMASTER-
CARR 91375A146 MCMASTER.COM

16 5 HEX CUP SET SCREW 
#6-32 X 1/2

BLACK OXIDE ALLOY 
STEEL

MCMASTER-
CARR 91375A148 MCMASTER.COM

17 1 HEX CUP SET SCREW 
#6-32 X 7/8

BLACK OXIDE ALLOY 
STEEL

MCMASTER-
CARR 91375A152 MCMASTER.COM

STOCK PARTS

1001
SHEET 8 OF 8SCALE: 2:1 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:A A

B B

2

2

1

1

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/200
TWO PLACE DECIMAL    .005
THREE PLACE DECIMAL  .001


	EXPLODED VIEW & BOM
	Drawing View1

	BASE PLATE
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View23

	LONG TRACTION BAR
	Drawing View16
	Drawing View19
	Drawing View20
	Drawing View21

	SHORT TRACTION BAR
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27

	MOVEMENT BAR
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33

	COVER PLATE
	Drawing View28
	Drawing View29

	ACTUATION LEVER
	Drawing View5
	Drawing View6

	STOCK PARTS

